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Rational Numbers

Example

1. The co-ordinate of the two points A and B on

the number line are 6 & 14 respectively. If co-

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_228hyWJ0Ng3a


ordinate of the C on the line is 10, then show

tha C is equidistant from A and B.

Watch Video Solution

2. The co-ordinate of the two points A and B

on the number line are 6 & 14 respectively. If

co-ordinate of the C on the line is 10, then

show tha C is equidistant from A and B.

Watch Video Solution

https://dl.doubtnut.com/l/_228hyWJ0Ng3a
https://dl.doubtnut.com/l/_9y4wgAFswxM3


3. Determine the distances between the points

: 

2,6

Watch Video Solution

4. Determine the distances between the points

: 

-2, +1

Watch Video Solution

https://dl.doubtnut.com/l/_kvAVcQSpGyyY
https://dl.doubtnut.com/l/_WRnmgZfXxUZ1
https://dl.doubtnut.com/l/_59qKexob4rE0


5. Determine the distances between the points

: 

Watch Video Solution

− , −
1

2

1

4

6. Determine the distances between the points

: 

-2, -7

Watch Video Solution

https://dl.doubtnut.com/l/_59qKexob4rE0
https://dl.doubtnut.com/l/_BlgQMYFiaUh6
https://dl.doubtnut.com/l/_Wy7z99f7CIns


7. Determine the distances between the points

: 

0, √2

Watch Video Solution

8. Determine the distances between the points

: 

0,-√2.

Watch Video Solution

https://dl.doubtnut.com/l/_Wy7z99f7CIns
https://dl.doubtnut.com/l/_KrwA6Hn4mPHv


9. x is a real number, 

If x < y, on which side of x does y lie?

Watch Video Solution

10. x is a real number, 

If x < y and y < 0 what will be the positions of x

and y?

Watch Video Solution

https://dl.doubtnut.com/l/_omq6GWdtI41n
https://dl.doubtnut.com/l/_fDDQ4W7JZbEO


11. Using appropriate properties find. 

Watch Video Solution

− × + − ×
2

3

3

5

5

2

3

5

1

6

12. Using appropriate properties find. 

Watch Video Solution

× ( − ) − × + ×
2

5

3

7

1

6

3

2

1

14

2

5

https://dl.doubtnut.com/l/_LXr1dIVVNgdv
https://dl.doubtnut.com/l/_IcTNdWMrrjvz


13. Write the additive inverse of the following 

Watch Video Solution

2

8

14. Write the additive, inverse of the following. 

Watch Video Solution

−5

9

https://dl.doubtnut.com/l/_KNyF6yzq3cdU
https://dl.doubtnut.com/l/_eDEp42egqhkI


15. Write the additive, inverse of each of the

following. 

Watch Video Solution

−6

−5

16. Write the additive, inverse of the following. 

Watch Video Solution

2

−9

https://dl.doubtnut.com/l/_kkquYAJ9YAxt
https://dl.doubtnut.com/l/_SIbLF6Wba5mE


17. Write the additive inverse of the following. 

Watch Video Solution

19

−6

18. Verify that  for 


Watch Video Solution

−( − x) = x

x =
11

15

https://dl.doubtnut.com/l/_xyXr4uo4H1b0
https://dl.doubtnut.com/l/_eN05EH7vNAGE


19. Verify that  for 


Watch Video Solution

−( − x) = x

x =
13

17

20. Find the multiplicative inverse of the

following. 

Watch Video Solution

−13

https://dl.doubtnut.com/l/_IfQmLWy5pYk7
https://dl.doubtnut.com/l/_i0cNqxQ6WZgO


21. Find the multiplicative inverse of the

following. 

Watch Video Solution

−13

19

22. Find the multiplicative inverse of the

following. 

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_SdI5qMNmanxw
https://dl.doubtnut.com/l/_k33EZ7dFVsoS
https://dl.doubtnut.com/l/_BxJRgGUzNquU


23. Find the multiplicative inverse of the

following. 

Watch Video Solution

×
−5

−8

−3

7

24. Find the multiplicative inverse of the

following. 

Watch Video Solution

−1 ×
−2

−5

https://dl.doubtnut.com/l/_BxJRgGUzNquU
https://dl.doubtnut.com/l/_ocd4rZkA4nQM
https://dl.doubtnut.com/l/_GGHhWW5UxBsq


25. Find the multiplicative inverse of the

following. 

Watch Video Solution

−1

26. Name the property under multiplication

used in each of the following. 

Watch Video Solution

× 1 = 1 × = −
−4
5

−4
5

4
5

https://dl.doubtnut.com/l/_GGHhWW5UxBsq
https://dl.doubtnut.com/l/_vLYY8rSGKVg6


27. Name the property under multiplication

used in each of the following. 

Watch Video Solution

× = ×
−13

17

−2

7

−2

7

−13

17

28. Name the property under multiplication

used in each of the following. 

Watch Video Solution

× = 1
−19

29

29

−19

https://dl.doubtnut.com/l/_6Y9J9KNoxPGY
https://dl.doubtnut.com/l/_EKSDojSkjOAn
https://dl.doubtnut.com/l/_8Fl24r6Nr0zQ


29. Multiply  by the reciprocal of .

Watch Video Solution

6

13
−7
16

30. Tell what property allows you to compute. 

 as 

Watch Video Solution

× (6 × )
1

3
4
3

( × 6) ×
1

3
4
3

31. Is  the multiplicative inverse of ?

Why or why not?

8

9
−1

1

8

https://dl.doubtnut.com/l/_8Fl24r6Nr0zQ
https://dl.doubtnut.com/l/_WgEgCqmJyYr3
https://dl.doubtnut.com/l/_tWVPVR4VDbCK


Watch Video Solution

32. Is  the multplicative inverse of `3(1)/(3)?

Why or why not?

Watch Video Solution

0.3

33. Write the rational number that does not a

have a reciprocal

Watch Video Solution

https://dl.doubtnut.com/l/_tWVPVR4VDbCK
https://dl.doubtnut.com/l/_7WTlq44D0smG
https://dl.doubtnut.com/l/_Nsx3aVaAEnqw
https://dl.doubtnut.com/l/_oVzz6WrkV5RW


34. Write the rational number that are equal

to their reciprocals

Watch Video Solution

35. Write the rational number that is equal to

its negative

Watch Video Solution

36. Fill in the blanks. 

Zero has ---- reciprocal.

https://dl.doubtnut.com/l/_oVzz6WrkV5RW
https://dl.doubtnut.com/l/_xSgbNFWwbNCb
https://dl.doubtnut.com/l/_1q2mHLF45ByG


Watch Video Solution

37. Fill in the blanks. 

The number ---- and ---- aretheir own

reciprocals.

Watch Video Solution

38. Fill in the blanks. 

The reciprocal of -5 is ----

Watch Video Solution

https://dl.doubtnut.com/l/_1q2mHLF45ByG
https://dl.doubtnut.com/l/_izuZoTsf9LUh
https://dl.doubtnut.com/l/_Fs6GSFCFqmjt


39. Fill in the blanks. 

Reciprocal of  where x is 0 is ------

Watch Video Solution

1

x

40. Fill in the blanks. 

The product of two rational numbers is always

a ---------------

Watch Video Solution

https://dl.doubtnut.com/l/_Fs6GSFCFqmjt
https://dl.doubtnut.com/l/_sTiySvSKcSbh
https://dl.doubtnut.com/l/_qPz1apYwVsgb
https://dl.doubtnut.com/l/_DgzDXAweV3e8


41. Fill in the blanks. 

The reciprocal of a positive rational number is

-----.

Watch Video Solution

42. Write five rational numbers greater than -2

Watch Video Solution

43. Find ten rational numbers between  and 
3

5
3

4

https://dl.doubtnut.com/l/_DgzDXAweV3e8
https://dl.doubtnut.com/l/_ikazRMfNeKNN
https://dl.doubtnut.com/l/_qcx7yjQmKy2S


Watch Video Solution

44. Fill in the blanks in the following table. 

Watch Video Solution

45. Complete the following table. 

Watch Video Solution

https://dl.doubtnut.com/l/_qcx7yjQmKy2S
https://dl.doubtnut.com/l/_G24TnYdYdSFf
https://dl.doubtnut.com/l/_7COMWZDzAGak


46. Complete the following table. 

Watch Video Solution

47. Find using distributive Law: 

Watch Video Solution

{ ) × ( )} + { × }
7
5

−3

12
7
5

5

12

https://dl.doubtnut.com/l/_7COMWZDzAGak
https://dl.doubtnut.com/l/_6lSgz2C7y56U
https://dl.doubtnut.com/l/_xZoAXyzwfTCO


48. Find using distributive Law: 

Watch Video Solution

{ × } + { × }
9

16
4
12

9

16

1 − 3

9

49. Write the rational number for each point

labelled with a letter. 

Watch Video Solution

https://dl.doubtnut.com/l/_kGtf9Ufr9oU6
https://dl.doubtnut.com/l/_YaKvPFoGiFfD


50. Write the rational number for each point

labelled with a letter. 

Watch Video Solution

51. According to which properties the

following results are true: 

Watch Video Solution

( − 4) × 5 = 5 × ( − 4)

https://dl.doubtnut.com/l/_1c5OQVjCOw4I
https://dl.doubtnut.com/l/_K1Y8MDKGGR01


52. According to which properties the

following results are true: 

Watch Video Solution

3(4 + 5) = 3 × 4 + 3 × 5

53. According to which properties the

following results are true: 

Watch Video Solution

(5 + 4) + 7 = 5 + (4 + 7)

https://dl.doubtnut.com/l/_cepFdZFCrxhw
https://dl.doubtnut.com/l/_ayhqwyzdylwd
https://dl.doubtnut.com/l/_RwSwIQPCkm8j


54. According to which properties the

following results are true: 

Watch Video Solution

( − 8) × 0 = 0

55. According to which properties the

following results are true: 

Watch Video Solution

1 × ( − 7) = − 7

https://dl.doubtnut.com/l/_RwSwIQPCkm8j
https://dl.doubtnut.com/l/_vnGtEbDjzYjp
https://dl.doubtnut.com/l/_6qL2y8k99h8L


56. Is the set of integers closed under the

operation of substraction? Give examples

Watch Video Solution

57. Is the set of integers closed under the

operation of substraction? Give examples

Watch Video Solution

58. Is the set of integers closed under the

operation of Multiplication? Give examples

https://dl.doubtnut.com/l/_6qL2y8k99h8L
https://dl.doubtnut.com/l/_ZYxLNTwfAgyM
https://dl.doubtnut.com/l/_jp49ZAYC9rFP


Watch Video Solution

59. Is the set of integers closed under the

operation of Division? Give examples

Watch Video Solution

60. Simplify : 

Watch Video Solution

8 × ( − 4) × ( − 2)

https://dl.doubtnut.com/l/_jp49ZAYC9rFP
https://dl.doubtnut.com/l/_gzg55CMTtmfn
https://dl.doubtnut.com/l/_tkI2IVA7P69O
https://dl.doubtnut.com/l/_U6joeKvdi0va


61. Simplify : 

Watch Video Solution

(8 + 4) ÷ ( − 2)

62. Simplify : 

Watch Video Solution

( − 5)( − 60)
−3 × − 4

3

https://dl.doubtnut.com/l/_U6joeKvdi0va
https://dl.doubtnut.com/l/_edFtU9EMFi8Y


63. Simplify : 

Watch Video Solution

−1 × 4 × − 6

−24

64. Simplify : 

Watch Video Solution

( − 3)2 × ( − 2)3

https://dl.doubtnut.com/l/_Jd18d0YD6V9w
https://dl.doubtnut.com/l/_T7FVr4tIimxd


65. Simplify : 

Watch Video Solution

( − 4)
2
× ( − 3)

2 × ( − 6 − 2)

66. Simplify : 

Watch Video Solution

8 × ( − 4) × ( − 2)
2

( − 16) × ( − 8)

https://dl.doubtnut.com/l/_nP3HEpqipCCj
https://dl.doubtnut.com/l/_TmuU7zqO8RJ2


67. Show that: 

'0' is a rational number.

Watch Video Solution

68. Show that: 

Every natural number is a rational number.

Watch Video Solution

https://dl.doubtnut.com/l/_XlBA0O6IxzRG
https://dl.doubtnut.com/l/_JTmpwTNPJfQt


69. Show that: 

Every integer is a rational number.

Watch Video Solution

70. Which rational number has no

multiplicative inverse?

Watch Video Solution

https://dl.doubtnut.com/l/_DSexAYVySkA5
https://dl.doubtnut.com/l/_xz0jIp6yPd5O


71. Can a rational number be its own additive

inverse?

Watch Video Solution

72. Can a rational number be its own

multiplicative inverse?

Watch Video Solution

https://dl.doubtnut.com/l/_VRYqrClz6GpG
https://dl.doubtnut.com/l/_lWNPKGP5uoEw


73. Express the following rational numbers in

recurring decimals 

Watch Video Solution

3

7

74. Expression the following rational numbers

in recurring decimals 

Watch Video Solution

9

16

https://dl.doubtnut.com/l/_ysUruFuLrpHV
https://dl.doubtnut.com/l/_37JouSQMt9W8
https://dl.doubtnut.com/l/_q7L6iFWOkccG


75. Express the following rational numbers in

recurring decimals 

Watch Video Solution

29

80

76. Express the following rational numbers in

recurring decimals 

Watch Video Solution

16

27

https://dl.doubtnut.com/l/_q7L6iFWOkccG
https://dl.doubtnut.com/l/_Zg8ZgohbfYcI
https://dl.doubtnut.com/l/_DgeJCCUATRSj


77. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

3. ¯̄̄¯50

78. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

0. 5̄

https://dl.doubtnut.com/l/_DgeJCCUATRSj
https://dl.doubtnut.com/l/_orwA1geenm5O


79. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

2. 6̄

80. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

0. ¯̄̄¯63

https://dl.doubtnut.com/l/_mlI8z8NoralV
https://dl.doubtnut.com/l/_hUq1GmBm58Je
https://dl.doubtnut.com/l/_tF3OR8WzFp2Z


81. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

17. ¯̄̄¯18

82. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

65. ¯̄̄¯81

https://dl.doubtnut.com/l/_tF3OR8WzFp2Z
https://dl.doubtnut.com/l/_LYmQ89iSz7gv
https://dl.doubtnut.com/l/_trD8u7JICUNc


83. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

0. ¯̄̄ ¯̄¯635

84. Show that the following resurring decimals

are rational numbers? 

Watch Video Solution

1. ¯̄̄¯93

https://dl.doubtnut.com/l/_trD8u7JICUNc
https://dl.doubtnut.com/l/_lax1ISu1H9uA


85. Show that 

Watch Video Solution

0. 9̄ = 1

86. Find if the following real number is rational

or irrational: 

Watch Video Solution

5
1

3

https://dl.doubtnut.com/l/_ZR1OTgsBBjX7
https://dl.doubtnut.com/l/_aARedb5qONPQ


87. Find if the following real number is rational

or irrational: 

0

Watch Video Solution

88. Find if the following real number is rational

or irrational: 

Watch Video Solution

−
1

4

https://dl.doubtnut.com/l/_4KxPfKlTK5Ra
https://dl.doubtnut.com/l/_O1q74nk6dU1Z
https://dl.doubtnut.com/l/_tF6fWobOS4Kx


89. Find if the following real number is rational

or irrational: 

Watch Video Solution

−√2

90. Find if the following real number is

rational or irrational: 

Watch Video Solution

2 − √2

https://dl.doubtnut.com/l/_tF6fWobOS4Kx
https://dl.doubtnut.com/l/_bZjNnGqfs4cO
https://dl.doubtnut.com/l/_8gBWHJyTS3Ho


91. Find if the following real number is rational

or irrational: 

Watch Video Solution

0. ¯̄̄¯62

92. Find if the following real number is rational

or irrational: 

Watch Video Solution

π

2

https://dl.doubtnut.com/l/_8gBWHJyTS3Ho
https://dl.doubtnut.com/l/_Yn01AnH0j1C1


93. Find if the following real number is rational

or irrational: 

Watch Video Solution

3. ¯̄̄ ¯̄¯124

94. Find if the following real number is

rational or irrational: 

Watch Video Solution

1.010010001…. .

https://dl.doubtnut.com/l/_2nhE50y9hsGq
https://dl.doubtnut.com/l/_xmbSPiHpA2yX
https://dl.doubtnut.com/l/_POBy9RbC5wVC


95. Find if the following real number is rational

or irrational: 

Watch Video Solution

−
π

4

96. Is the set of natural numbers N closed

under the operation subtraction? Is the set of

integers also closed under this operation?

Watch Video Solution

https://dl.doubtnut.com/l/_POBy9RbC5wVC
https://dl.doubtnut.com/l/_AnHpSZbadBYO
https://dl.doubtnut.com/l/_p4e7xtAzFGt2


97. Is there any additive inverse element of a

natural number? What about this, in the case

integers?

Watch Video Solution

98. Whether every rational number (except 0)

has a multiplicative inverse? Is is true in the

case of an integers (except 0)?

Watch Video Solution

https://dl.doubtnut.com/l/_p4e7xtAzFGt2
https://dl.doubtnut.com/l/_5xiGtxUICaTu


99. Which element in the set of rational

numbers is called multiplicative identity?

Watch Video Solution

100. Use the symbols <, =, > appropriately in

place of "?" 

`4 ? 3'

Watch Video Solution

https://dl.doubtnut.com/l/_VtjXbBtAFeq3
https://dl.doubtnut.com/l/_hazdRqZuvrrn


101. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

3?4

102. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

−3? − 1

https://dl.doubtnut.com/l/_RvpOFvLWzIjA
https://dl.doubtnut.com/l/_HBqDBwzSUsWC
https://dl.doubtnut.com/l/_XtOlyOi1myWR


103. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

−2?0

104. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

−9 + 1?( − 2) × 4

https://dl.doubtnut.com/l/_XtOlyOi1myWR
https://dl.doubtnut.com/l/_5myVbfHz36aq
https://dl.doubtnut.com/l/_XfRNusWchRiX


105. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

− ? −
1

2

1

3

106. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

−2(5 + 1)?( − 4) × 3

https://dl.doubtnut.com/l/_XfRNusWchRiX
https://dl.doubtnut.com/l/_ONGOdI5oFEma


107. Use the symbols <, =, > appropriately in

place of "?" 

Watch Video Solution

−3?0

108. Show that 

3 + 4 + 5 = 5 + 4 + 3

Watch Video Solution

https://dl.doubtnut.com/l/_GLTUYQL9HD8h
https://dl.doubtnut.com/l/_gJKfzsjWsbIh


109. Show that 

a + b + c = b + c + a

Watch Video Solution

110. Show that 

a + b + c = c + a + b

Watch Video Solution

https://dl.doubtnut.com/l/_6AEUwGxndH1b
https://dl.doubtnut.com/l/_7B5w5ZDrJpeL


111. Show that 

Watch Video Solution

7 × 5 × 2 = 5 × 2 × 7

112. What is the additive inverse of the

following real number? 

3

Watch Video Solution

https://dl.doubtnut.com/l/_YnMfIvOU8nyQ
https://dl.doubtnut.com/l/_PYDHqKnWvKv9


113. What is the additive inverse of the

following real number? 

3/4

Watch Video Solution

114. What is the additive inverse of the

following real number? 

0

Watch Video Solution

https://dl.doubtnut.com/l/_gDlyL5qcP0eT
https://dl.doubtnut.com/l/_dc1bkFSYznlw
https://dl.doubtnut.com/l/_1i16Sjz2tQef


115. What is the additive inverse of the

following real number? 

Watch Video Solution

√2

116. What is the additive inverse of the

following real number? 

Watch Video Solution

−√3

https://dl.doubtnut.com/l/_1i16Sjz2tQef
https://dl.doubtnut.com/l/_sEX2JZYqakHB
https://dl.doubtnut.com/l/_b8IuD32EejlT


117. What is the additive inverse of the

following real number? 

Watch Video Solution

−π

118. What is the additive inverse of each of the

following real numbers? 

Watch Video Solution

−3.15

https://dl.doubtnut.com/l/_b8IuD32EejlT
https://dl.doubtnut.com/l/_pBdcbV7oioRs


119. What is the additive inverse of each of the

following real numbers? 

Watch Video Solution

√2 + 1

120. Find the multiplicative inverse elements of

the following real numbers: 

1/2

Watch Video Solution

https://dl.doubtnut.com/l/_1ogmleT6dAhc
https://dl.doubtnut.com/l/_5KvVwcJANGQu
https://dl.doubtnut.com/l/_aXad8ZcElV1M


121. Find the multiplicative inverse elements of

the following real numbers: 

-4

Watch Video Solution

122. Find the multiplicative inverse elements of

the following real numbers: 

0

Watch Video Solution

https://dl.doubtnut.com/l/_aXad8ZcElV1M
https://dl.doubtnut.com/l/_sXHPhvQf1Ilr
https://dl.doubtnut.com/l/_8RBJ5fpivE47


123. Find the multiplicative inverse elements of

the following real numbers: 

Watch Video Solution

√2

124. Find the multiplicative inverse elements of

the following real numbers: 

Watch Video Solution

1 + π

https://dl.doubtnut.com/l/_8RBJ5fpivE47
https://dl.doubtnut.com/l/_jfkBA2YP6naM


125. Find the multiplicative inverse elements of

the following real numbers: 

Watch Video Solution

12.34

126. Find the multiplicative inverse elements of

the following real numbers: 

Watch Video Solution

.00013

https://dl.doubtnut.com/l/_3tzopFiukabi
https://dl.doubtnut.com/l/_g9C3SyM9iPgC
https://dl.doubtnut.com/l/_pCF4ULazsTV2


127. In the set of real numbers,

does subtraction satisfy the commutative law?

Watch Video Solution

128. In the set of real numbers. 

does subtraction satisfy the associative law?

Watch Video Solution

https://dl.doubtnut.com/l/_pCF4ULazsTV2
https://dl.doubtnut.com/l/_SC0DT6cF8fyR


129. In the set of real numbers. 

is there an identify with respect to

subtraction?

Watch Video Solution

130. In the set of real numbers. 

is there an identify with respect to

multiplication?

Watch Video Solution

https://dl.doubtnut.com/l/_vRHznWhPVl5V
https://dl.doubtnut.com/l/_jFLHOWdOJepx
https://dl.doubtnut.com/l/_ZujvxoTEcdpB


131. Are the following relations true? If not,

illustrate with examples. 

Watch Video Solution

a(b + c) = ab + ac

132. Are the following relations true? If not,

illustrate with examples. 

Watch Video Solution

a + (b × c) = (a + b) × (a + c)

https://dl.doubtnut.com/l/_ZujvxoTEcdpB
https://dl.doubtnut.com/l/_US6WXKANgaq1
https://dl.doubtnut.com/l/_6cYbQ5bSOKPk


133. Are the following relations true? If not,

illustrate with examples. 

Watch Video Solution

(a − b) + b = a

134. Are the following relations true? If not,

illustrate with examples. 

Watch Video Solution

a ÷ (b + c) = (a ÷ b) × (a ÷ c)

https://dl.doubtnut.com/l/_6cYbQ5bSOKPk
https://dl.doubtnut.com/l/_Nh6OLA9R80Bk


135. Carry out the operation of addition using

additive inverse: 

Watch Video Solution

79 + − 47

136. Carry out the operation of addition using

additive inverse: 

Watch Video Solution

−19 + 13

https://dl.doubtnut.com/l/_igGDDU6GZ83x
https://dl.doubtnut.com/l/_NVk3Hb1UmbUF
https://dl.doubtnut.com/l/_mQ5oVSp8GClJ


137. Carry out the operation of addition using

additive inverse: 

Watch Video Solution

434 + − 234

138. Carry out the operation of addition using

additive inverse: 

Watch Video Solution

99 + − 999

https://dl.doubtnut.com/l/_mQ5oVSp8GClJ
https://dl.doubtnut.com/l/_IAgxHmJxP2Zq
https://dl.doubtnut.com/l/_THLY4WjHmmiR


139. Is the set A = {-2, -4, -6, -8,…………..} closed, 

under addition

Watch Video Solution

140. Is the set A = {-2, -4, -6, -8,…………..} closed, 

under subtraction

Watch Video Solution

141. Is the set A = {-2, -4, -6, -8,…………..} closed, 

under multiplication? Given at least three

https://dl.doubtnut.com/l/_THLY4WjHmmiR
https://dl.doubtnut.com/l/_fc4krUE5bf4U
https://dl.doubtnut.com/l/_qUFNhasKZj0Q


example in each case.

Watch Video Solution

142. Examine which of the following are

rationals and which are not: 

Watch Video Solution

√80

11

143. Examine which of the following are

rationals and which are not: 

https://dl.doubtnut.com/l/_qUFNhasKZj0Q
https://dl.doubtnut.com/l/_gGAIaxz63DN4
https://dl.doubtnut.com/l/_VFd6D5qdUky0


Watch Video Solution

√8

8

144. Examine which of the following are

rationals and which are not: 

Watch Video Solution

−
17
19

145. Examine which of the following are

rationals and which are not: 

https://dl.doubtnut.com/l/_VFd6D5qdUky0
https://dl.doubtnut.com/l/_5JMIsPiQeCdN
https://dl.doubtnut.com/l/_903S6VFAuXjw


Watch Video Solution

√12

√36

146. Examine which of the following are

rationals and which are not: 

Watch Video Solution

1.01

11

147. Examine if the following are rationals or

not: 

https://dl.doubtnut.com/l/_903S6VFAuXjw
https://dl.doubtnut.com/l/_aMpzi6Q8UmeE
https://dl.doubtnut.com/l/_3ZJazSBNHh3c


Watch Video Solution

√4

√36

148. Examine which of the following are

rationals and which are not: 

Watch Video Solution

1.3

149. Examine which of the following are

rationals and which are not: 

https://dl.doubtnut.com/l/_3ZJazSBNHh3c
https://dl.doubtnut.com/l/_Wx92SLqxMaeT
https://dl.doubtnut.com/l/_3fBaWC0dHCOf


Watch Video Solution

7.77…. .

150. Examine which of the following are

rationals and which are not: 

Watch Video Solution

1.141……. .

151. Examine which of the following are

rationals and which are not: 

https://dl.doubtnut.com/l/_3fBaWC0dHCOf
https://dl.doubtnut.com/l/_PizGZeHK2g2R
https://dl.doubtnut.com/l/_U9fVBJMF0Wfs


Watch Video Solution

0.142857

152. Find the product using the property or

properties mentioned in braket against each

of the following : 

 (distributive property).

Watch Video Solution

17 × 9
7
9

https://dl.doubtnut.com/l/_U9fVBJMF0Wfs
https://dl.doubtnut.com/l/_KKSBUdZcLcXr


153. Find the product using the property or

properties mentioned in braket against each

of the following : 

 (distributive & commutative

properties).

Watch Video Solution

101 × 37
11

37

154. Find the product using the property or

properties mentioned in bracket against each

of the following : 

https://dl.doubtnut.com/l/_TQ1nkZvoY1eu
https://dl.doubtnut.com/l/_vzgVTW5TAJow


 (distributive and

associative properties)

Watch Video Solution

(1 + ) × × 7
4
7

1

11

155. Is  a rational or irrational?

Watch Video Solution

= α
K

0

156. Is  a rational or irrational? Justify your

answer.

Watch Video Solution

π

https://dl.doubtnut.com/l/_vzgVTW5TAJow
https://dl.doubtnut.com/l/_QNYCmPM0x2m4
https://dl.doubtnut.com/l/_HcNiON2gjxa9


https://dl.doubtnut.com/l/_HcNiON2gjxa9

